3 (Sem-1) BOT (O)

2019

BOTANY
( General )

( Diversity of Microbes and Cryptogams )
Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7

O AR Teq fordl -

(a) Define thallophytic plants with example.
SRR STRAICHR) SR St A |

(b) Who is the father of botany?
Tfew e wv e @ 2

() Name one unicellular eukaryotic
fungus. ’
B! IR ALICFEA (5339 AW forant
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(@)
(e)

0

(g)

(2)

What are viroids?
SECECRE )
Name one symbiotic bacteria.

9B TEEA @B AW B |

What is the main component of fungal
cell wall?

ST FW @9 o4 TRy & 2
What is ligule? |
SEee 2

2. Answer/Write notes on the following briefly :
TS frPTR vY $ed/5Y B fore

(@)

(b)
(c)

(d)

20A/347

2x4=8

Nutrition of fungi

T

Difference between Bryophytes and
Pteridophytes

FReefer wF GIAETOR e Yo vl

What is a bacteriophage? Explain with

- diagram.

@RS 7 B 3¢ i o

Economic importance of lichens

AT N 8F9
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(3)

3. Answer any three of the following questions :

5x3=15
e fira eppTes R e fofbrR Saw foret
(a) Write a brief note on the reproduction of
fungi.
(SRR 2 T o1 5 BT fore |

(b) How are viruses transmitted?

SRR AT (LT = ?

() Explain plant disease control.
e canel Frrger gl 3 |

(d) Rhizophore is a leafless stem. Justify.
TR €T *ERRA e | I

fe) Discuss the impact of plants on human
- life.
e Qae TEHa oS ST 411

4. (a) Discuss the useful and harmful aspects
of bacteria. 10

@ERTR TRl TR e et seercd
(el ¥4 |
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(4)

Or/ 941

Describe the life history and. usefulness
in agriculture of Anabaena

R G WG wF FRe TAFIROPTR

{1 390

(b) What is alternation of generation?
Describe the structure of capsule of
Funaria. 5+5=10

e 67 RFECAIRAR TRABA o 196 T 1
Or/ 91

Describe the structure of sporophyte of
Marchantia and Anthoceros. 5+5=10

TCFAAT F 97 I (EI A5 I F1 |

(c) Write an explanatory note on the origin
of pteridophytes. 10
R o S Ream aft IR
o foran o

Or / |11

Give a comparative account of the
sporophyte of Equisetum and Pteris.

5+5=10

IPAEHT AF GRW AR SR e
Rt o 1
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20A—3500+2000/347 3 (Sem-1) BOT (O)






